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Note : Attempt any two questions in section - A and two 
questions in section - B. 

SECTION-A 

1. Define cost accounting. Describe the functions 2+8 
of cost accounting. 

2. What do you understand by materials control ? 2+8 

Explain the requirements for an efficient system 
of materials control. 

3. Write short notes on any two of the following : 	5+5 

(a) Process Costing 

(b) Idle Time 

(c) Group Bonus Scheme 

(d) Economic Order Quantity (EOQ). 
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SECTION - B 

4. 	(a) Distinguish between direct expenses and 5+10 

indirect expenses. 

(b) The net profit to Gama Ltd. appeared as 

Rs. 1,72,400 as per the costing records. On 

further examination of cost and financial 

accounts, the following facts were 

discovered. 
Rs. 

( ) Works overheads under-recovered in 

cost records. 

3,120 

(ii)  Administrative overheads recorded 

in excess in cost accounts. 

1,700 

(iii)  Depreciation charged in cost 

accounts 

12,500 

(iv)  Depreciation charged in financial 

accounts 

11,200 

(v)  Interest on investments not recorded 

in cost accounts 

8,000 

(vi)  Loss due to obsolescence recorded 

only in financial accounts 

5,700 

(vii)  Income tax recorded only in financial 

accounts 

40,300 

(viii)  Bank interest received shown in 

financial accounts only 

750 

(ix)  loss due to depreciation in stock 

charged in financial accounts 

6,750 

(x)  Stock value adjustments (credit in 

financial accounts only) 

475 

Prepare a reconciliation statement from the above 

particulars. 
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5. (a) Compute the labour hour rate from the 

following information : 
	 7+8 

Total number of operators working in the 

department of a factory is 30. The 

department works for 300 days in a year 

and number of hours per day worked is 

8 hours. Idle time is 10% of the total number 

of days. Total departmental overheads are 

Rs. 20,000. 

(b) During the month of December 2010, 16,000 

units of standard product was 

manufactured. Out of which 13,500 were 

sold at Rs. 8 per unit. The value of 

raw-materials consumed was Rs. 60,000 

and the wages paid Rs. 16,480. The factory 

expenses allocated to production at machine 

hour rate, for the month, was Rs. 5 per hour 

and 1,200 machine hours were worked 

during the month. The office expenses are 

charged @ 20% on works cost and the 

selling expenses @ 25 paise per unit. Prepare 

the cost sheet and ascertain the profit for 

the month. 

6. A product passes through two processes, 'A' and 15 

'B' and then to finished stock account. It is 

ascertained that in each process the normal loss 

is 15% of the output from which for process 'A' 

the amount realised was Rs. 8,000 and for process 

'B' Rs. 18,000. 
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From the following further information, prepare 

process accounts. 

Particulars A B 

Materials (in tonnes) 1,000 70 

Cost of material per tonne (Rs.) 125 200 

Wages (Rs.) 28,000 10,000 

Manufacturing expenses (Rs.) 8,000 5,250 

Actual output (in tonnes) 830 780 
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